SAMPLE QUESTIONS: C_TIOG20_65

SAP Certified Application Associate - Supply Chain Planning and Execution for SAP IS Oil & Gas based SCM 7.0 EHP1

Disclaimer: These sample questions are for self-evaluation purposes only and do not appear on the actual certification
exams. Answering the sample questions correctly is no guarantee that you will pass the certification exam. The certification
exam covers a much broader spectrum of topics, so do make sure you have familiarized yourself with all topics listed in the
exam competency areas before taking the certification exam.

Questions
1. What identifies the movement scenario in TSW ticketing?

Note: There are 3 correct answers to this question-

a) o Ticket type

b) o Document relevance

c) o S-type and RDI in nomination
d) o Nomination type

e) o Nomination relevance

2. What must be included in a bill of material in maintenance?

Note: There are 3 correct answers to this question.

a) o Account assighment

b) o Unit of measure

c) o Quantity

d) o Object number

e) o Capital consumption per time period

3. Which fields in the material master are mandatory for calculating excise duties?

Note: There are 3 correct answers to this question.

a) o Oil Content Percentage (%)
b) o Excise Duty Group

c) o Unit of Measure Group

d) o Quantity Conversion Group




e) o Handling Type

4. In which refining step is sulfur removed from the hydrocarbon chains ?

Please choose the correct answer.

a) 0 Conversion

b) o Atmospheric distillation
c) o Vacuum distillation

d) o Blending

5. When you display the stock projection worksheet (SPW) you can see future values of the base
inventory.
Where do these values originate?

Please choose the correct answer.

a) o Internal tables processed in real-time

b) o Tables populated by the SPW engine in batch mode
c) o The physical inventory table processed in real-time
d) o The book inventory table processed in batch mode

6. You have modeled a simple supply chain in TSW, consisting of

e two owned refineries as origins,

e oneowned end terminal,

e two customer end terminals, and

e asingle pipeline connecting all of these.

How many APO locations do you need to create this scenario in the modified Supply Network Planning
(SNP) model?

Please choose the correct answer.

a) (0] 5
b) ) 6
c) (0] 4
d) 0] 3




7. Which system types comprise the IT architecture used in the fuel retail network?

Note: There are 3 correct answers to this question.

a) o Head office system (HOS)

b) o Message-oriented middleware (MOM)
c) o Back office system (BOS)

d) o Point of sale (POS)

e) o Manufacturing execution system (MES)

8. Which types of master data can you assign directly to a vehicle master record?

Note: There are 3 correct answers to this question.

a) 0 Carrier

b) 0 Meter

c) o Driver

d) o Transport unit
e) o License type

9. What type of hedge would you use to mitigate risk on a future sale of wet barrels?

Please choose the correct answer.

a) o Balanced hedge
b) o Short hedge

c) o Backwardation
d) o Long hedge

10. Which partner role can you assign to both a vendor and a customer?



Please choose the correct answer.

a) o TSWO002 Shipper

b) o TSWO007 Consignee

c) o TSWO008 Tanker

d) o TSWO009 Inspector
Solutions

1 a) Correct

2 a) Incorrect

3 a) Correct

4 a) Correct

5 a) Correct

1 b) Incorrect

2 b) Correct

3 b) Correct

4 b) Incorrect

5 b) Incorrect

1 c) Correct

2 c) Correct

3 ¢) Incorrect

4 ¢) Incorrect

5 ¢) Incorrect

1d) Incorrect

2 d) Correct

3 d) Incorrect

4 d) Incorrect

5 d) Incorrect

1 e) Correct

2 e) Incorrect

3 e) Correct

6 a) Incorrect

7 a) Correct

8 a) Correct

9 a) Incorrect

10 a) Incorrect

6 b) Correct

7 b) Incorrect

8 b) Incorrect

9 b) Incorrect

10 b) Incorrect

6 c) Incorrect

7 c) Correct

8 c) Incorrect

9 ¢) Incorrect

10 ¢) Correct

6 d) Incorrect

7 d) Correct

8 d) Correct

9 d) Correct

10 d) Incorrect

7 e) Incorrect

8 e) Correct
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